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3
2

4
3
2
1


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)|(
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BAP
ABP

��

  :تمرین براي حل 

4: K��|�3,)8�(N�O�P��)����)W4�����
0)|( AAP�������������������������������*1)|( AAP��s�(��

5: �O�(
4
1
)(AP���

6
1
)(BP���

3
1
)|( BAPKZ),��)( BAP 0j2b�  70� �2 ���

6: �����������|����*)4O0�N),��V�(N��}V�{������������������dO�Z���,��K��N�!�3�VJ��,�(N����V�*)4O0�NJ��}V��K�!��N��)�5D(

�NJ��}��(�*)4O0��(������JKZ),��KZ�O�)i�3[0�����
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  ةیشامد هاي مستقل و وابسته: قسمت سوم 

��������=�5���,��5W,(���tJ)_4�Y�)�P!�{��;�)5����)������KZ),�����!�P(��y5W����)����3V(�O��J�Y�)�P!�{�����

��P(JO0�����5W,(�����y5W���)��K�)[�0��tOn���,�TNJ���(�NJ���

),()(�O�(B�A������������)ct�P(�K�)[�0��J��(S������|��N�g,��K�Z),0:تعریف   BPAP�������J���(��)��!

�(N�K�)[�0�y5W�KZ),��5Z(K��O�8#4��O��J�k�x���)�5D(�O,�)��!�P(��}��k�x���)�5D(��)�O������������

�K�)[�0��J�O�(B�A�(N�)��!��K�Z)-���y5W���5W,(�������������

��:نتیجه 

1��O�(B�A2N�̂���(�NJ��K�Z),��y5W��K�)[�0��J����

)().()(

)()|(

)()|(

BPAPBAP

BPABP

APBAP






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2��O�(B�AK�)[�0��J�2N�̂���(�NJ��K�Z),��5W,(�����

)|().(

)|().()(

BAPBP

ABPAPBAP




��

��<�4���}���x(KD�O�(P(��K�)[�0��J�A��BKZ),���4��K�5W���y5W��K�)[�0��J���(�  

-����������������JN(K���VNO,��,�P)����JN(���P(��N)�W,�NJ��K�)[�0��J��J�,��y5W��������x��)�9���(���m��,����TNJ�NJ: توجه  

��������0��J���P��!�Y�(J��J��(O,�{�Q�t[���K�Z),�����y5W��K�)���������������N��O�8#�4�?�����}�����-x��Km�)�����-x�(O�P

JN(K���O��J3W���K�)[�0��J���(��J�,��y5W���VNO,��,��P)���(M�����  

�����5E���(��-n<�12���������|����(J������3V(�/��3�K�(�*��n��)��!��)4�����_�4���,��-n<���(�P(��{���rJ) :مثال

����������(�/����N(M��)<���K,�U1V����N(J����O,�/�����������N(J����O,�rJ)_4��,��O��J�/�������������}��(��)��5D(

�3V(�NKy@��K�Z),�*��n��/����J�O���

�D������|����s�On4���
B��J�/���K�)[�0��*��n����������������������������������������A��(�/���K�)[�0�*��n�����

���������(�/����J�,�*��n��O�p�)��*��n����@����J�/����J�,�*��n��O�p�)��*��n��O,��O�8#4�?������U�0��JN(K���

�K�)[�0��JB�AK�5W���y5W����2N�̂���(�NJ����
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4
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�����K�)[�0��J�O�(�B�A�����4)���|�K����)[���K�Z),��y5W :7تمرین

s�(��K�)[�0��JB�AK�5W���y5W��Q����������������������������������������

*��K�)[�0��JB�AK�5W���y5W��Q������

:��K�)[�0��JB�AK�5W���y5W��Q������
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�����J�Z����N(M�(���O5E���(O��(Ot��,��!��D���J�Z�����D�*�K��):ج
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  :تمرین براي حل 

8 : )[�0�K��|�̀ Ot�T)4�{��*)4O0�NJ�KAK�)[�0���:�P�JKm��KZ�O�)i�B�*Oc��),��JKm��KZ�O�)i�

3K�)[�0���C�P(�O5�NQ,��JKm��KZ�O�)i�2KZ),���K��|��VNO,�(N�K�)[�0��J�O���J�-��)���J�,��y5W��  

9: �����|����*)4O0�(N�T)4�{�����}V�{�����)�5D(����:�P��JK�m�T)�4���3[�0��}V��|�K��|�*)WD�(N��!

K�)�,���

10:  �������{�Q�t�TNJ�NJ�(O�P����-x��)�5D(90�������)E�N����-x��)�5D(���K̂NJ�70�������}��(��)��5D(��3�V(�K̂NJ�

K�N�!�3VJ��,�(N�J�Z���-x�TNJ���(�NJ�)��!�P(��}���x(KD�  

11: 3V(�K�POt��J��(N(J��(��J(��)H���-V)E��3V(�*��g���)�5D(��K�Z),�OW0�)��!�K�POt��J�O���}��(���

12:  �O,(O,�)�V!�NJ��(O�(��)-4�t��������4���)�O�x��)�5D(��)V�{��NJ�K��|�̀ Ot5�0���4���)�O�x��)�5D(���

��)-��(��������O,(O,�)�V!��NJ��(O�(8�0KZ),���KZ�K�(�H��)�O�x�)����4���(�P(��}���x(KD��@�),�K��|����n4�  
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13:  ���)�5D(��,�K�D(�7�0�����������)�5D(��,����)Z��VNK���JN����|���4�NJ�8�0�����������)��(�<����)�-4�t����������4�NJ�

J�Z����*)I5�(��K��|��-V)E��(N�O�P��)���)�5D(���

�s�(��J�Z�*)I5�(�Oj��JN�����4��J�O��NJ���

�*��J�[��*)I5�(�)����4�P(��(K}A���NJ���

�.��J�Z�*)I5�(��)-4�t���4�NJ�eyt���

�2������4�P(��}��NJ�eytJ�Z�*)I5�(�)���

�6��J�Z�*)I5�(�)����4�P(��}��NJ��x(KD���

14:  ������������������������TNJ���(�NJ�Y5V�J��KZ���-x��)�5D(��O,(O,��J��J�Z���-x��b)�N�TNJ�NJ�)�$N��}��(��)�5D(

KZ),���������O,(O,�K��Z���-x��b)�N�TNJ�NJ�)��!�P(��}���x(KD��}��(��)�5D(�O�(625�0KZ),�������@�),�K��|�*)WD

�)�$N���)�5D(KZ�K�(�H���-x�TNJ���(�NJ�  

15: O�(�B�A��|�K��|�3,)8��K�Z),��y5W��K�)[�0��J���)().()( BPAPBAP  1��

***  
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     آمار توصیفی : موددرس 

��,�Y�(O��s�5I���)�N)�n�����-V)E��),�)������K<���N(J����+�)x�NJ�)���J(J��JO|��̂�H��,��u�̂�4�N)�!

�����JP(JO0������K�|(O0��)�N)�n��)��Q|O���������������4)m�f(���VK������JKm��)�N)�n��{�|��,�N)�!��O��J��4N)-m��,

�N�!�l�<��)���J(J�P(�+V)������P(��KZK�J�����O����=�5���(O,��n�)<�)��������

  معیاذهاي گرایش به مرکز: قسمت اول 

�(N�KZ),�)���J(J��m��=��Q|O��rOn���|�JKm�O��)���Q|O��N)�n���Q|O��]H)Z���Q|O��O5�(N)0�K��)���������

���{�|��,�)��N)�n��������)���J(J���|�3�nx����(�4�����Q|O�������JO|����n4�(N����W�)y���(O,�(M�����J�)�����n�)<�K�@�

���+V)���X�N�{���-V)E����)��N)�n����3V(�)��!��Q|O������)��N)�n��������K�5W������k����V��(N(J��Q|O������NJ

��()=������J��,�eyt��k��������n��)��!�P(������)�����x������)����x~��������P(JO0�������O5��������)�����N)��n����Q�|O�

Z����*�WE�J����

  میانگین
���m��=��{��NJ�����N)�!��)���J(J�����JKm�������������)����(N�)���!�eV���,���)�5�������,)W�D�����)��������K���)�������

����)���)���J(J�eV�5��)��),���P(K�(�k��=��3�Wx�:N)H�3V(�O,(O,�)��!�J(Kn4�O,�)���J(J����

n

x

n

xxxx
x in 


...321��

������K�N�!�3VK,�(N�O�P��)���J(J�����):مثال
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D����

11
6
66

6
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

 
n

x
x i��

  :تمرین براي حل 

1: T�|�{��2(O�������)���16NJ��Ou����TNJ�b)�N��O,(O,5�123V(������(��(P��!�Y�(J�2(O���l�<

K�N�!�3VK,�(N�T�|���

2: ��O,(O,�O�P��)�J(J�����)���223V(���N(Ky�a(NK�N�!�3VK,����

20���25��30���22��a���25���24���21���20���15��
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3: �������)���5��J(J�����N)�!��17�3V(�������JKm��J�O�(17�����11����������|��t)b(���-x��)���J(J��,�(N�����K�K<�����)��

�KZ�K�(�H��JKm��@��

4: ��{���)���J(J�P(�{��O���b)u4�k��=���|�K��|�3,)8��N)�!��m��=�3V(�Oû�O,(O,�)��!�����)���P(����





n

i
i xx

1
0)(��

�����

  خواص میانگین    

O�(�)1x�2x���3x��������nx(��)1y�2y���3y��������ny(���m��=���J������JKm�k�������y�yD�JKm�{�

KZ),��(�4����(N�O�P�\(�H�2N�̂���(�NJ��JO|��VNO,�����)����(O,���

����!�(��m��=��{���)���J(J�l�<��̂)D�����)���JKm��!�l�<��̂)D�),�3,)8�JKm�{��),��N:الف 

�)��3V(�O,(O,�)���J(J��!�������

kxzkxz ii ��

����!�(��m��=��{���)���J(J�*Ob��̂)D�����)���JKm��!�*Ob��̂)D�),�3,)8�JKm�{��NJ��N:ب 

3V(�O,(O,�)���J(J��!�����)�����

xkzxkz ii .. ��

(̂��>��������������D�),��N)�!��)���J(J��m��=���JP(�Oi)�5���)���J(J�l�<��̂)D�����)��������)���!��)������)���l:ج  

3V(�O,(O,���

yxzyxz iii ��
���K�Z),�����O:مثال �|�+WDO,�Ot������)5V�J�P(�Ou��;�0��P��O�P��)���J(J����

55���61���57���55���62��
�s�(��K�N�!�3VJ��,�(N�)���J(J�����)�����

��*����������)���J(J���(�P(��(K|�O���,3����������)���U1V��K��|��t)b(�KD(��������)�,����JN�!�3�VJ���,�(N�K��K<��)����J(J

K��|��W�)y����̂(��)���J(J�����)�����

:������������NJ�(N�)���J(J���(�P(��(K|�O�2������������)���),����JN�!�3VJ��,�(N�K�K<��)���J(J�����)���U1V��K��|�*Ob�

K��|��W�)y����̂(��)���J(J���
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  :تمرین براي حل 

4: �(N�v�t�\(�H�P(�{��O��2)-8(K��|����

5: ����)W���)���J(J�����)����|�K��|�3,)8�O��O,(O,�3V(�)��!�P(�{����

6: ��)5V�J��P������)���O�(��WE�O,(O,��O����|�+WD�O,�58KZ),������(�3V(�NKy@��O��+WD�O,�����)����

7 :��������P(��5u��{��NJ�P(��(��(����)�J�N��O�Z)V��96�O,(O,�45�K�Z),�J(O���5�)V�������+W�DO,�(N�����)�������(

K�N�!�3VK,�3�)��N)t���32
5
9
 CF���

8: ��N)�!��)���J(J�����)����)�O�)1x�2x��3x�������nx(�O,(O,17KZ),�������)����)���J(J���

)12 1 x�12 2 x��12 3 x�������12 nx(�K�N�!�3VK,�(N���

***  
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  میانه 

�����������������!�P(�)����J(J�s_�����O5[��,��!�P(��J(J�s_����|�3V(��(��J(J���)�����N)�!��)���J(J�P(��m��=��{��NJ
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@���������m��=��{��NJ�O�(��J(J��N)�!��)���J(J���J)5t(�N�J��K�Z),��5Z(J�J�<���(���O�8#4�3E4���):توجه

���������JO�������N(Ox��J)5t(�N�J��)���J(J��3-W�������J�Z����*�WE���O5-V)���N)�n�������)����,���J(J������J)�5t(�N�J��

�J(JJN(J�N)�W,�2�)u4�)���J(J�O�)V��,�3-W���|�3V(��(���

  :تمرین براي حل 
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   هاي ةراکندگیمعیاذ: قسمت دوم 

�������������K�|(O0��(Q����|�J�Z�����P����)����N)�!�3��)nt�NJ���N�J���}�JQ���������������)���O��K������,�3-W��(N��J(J
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���(J��m��=��{���)���J(J���,�r�5H(���O5[�,��,��(�4����(N�2(O��q4���)���J(J��JO|�O�-n4��N)�!���

������J(J�2(O��q4����K��|�*)WD�(N�K�W���,�(N��!�O�-n4(��J�O�P)�����مثال
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7815  abR��

O�-n4��O,(O,��m��=����(��)���J(J���,�r�5H(���O5[�,�7�3V(���

  :نتیجه

1: ���(J���NQ,����K��J��)[��2(O��q4���3V(��n�)<�NJ�J)�P�2�)u4���KZ),�O5[�,����(J���(�NKx��@�O�

���3V(�J)�P�)���J(J���,�2�)u4O��@��NKx����(J���(��KZ),�O5�|������,�)���J(J�OO5}�JK������(J�O�(��2(O��q4�
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�*��3V(�)���J(J�O�q5����̂(�KD(��N�M=��U�)�N(���O����P(K�(�KD(�����)���J(J��O����P(K�(�KD(��O�(���9�
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N��(O,J�Z�����J)u5V(�N)�n��r(OE�(�P(��)}Z(��J���(�lt���[�N�N)�n��r(OE�(�(N�U�)�N(�����J�����r(OE�(

JN(K�)5V(��K��)�������

2 ��

��(O,)�,��(�w-f��+WD�O,�)���J(J��|�J�,�K�(�H��KD(���)����(N(J�N)�n��r(OE�(��|�3V(����K,�s�On4�

K�(��KZ��-V)E���!���

���)�����U�)�N(�K�N�!�3VK,�(N�O�P��)���J(J�N)�n��r(OE:مثال 
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  :تمرین براي حل 

11: ���U�)�N(��N)�n��r(OE�(����)���J(JO�PK��|��-V)E��(N����

7���9��6���5��3��

12: �)���J(J�U�)�N(���|�K��|�3,)83V(�Oû�O,(O,���)W������
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  خواص واذیانس

O�(�)1x�2x��3x�������nx(��{��m��=�����JKm�k�KZ),��y�yD�JKm�{���O�P�\(�H�2N�̂���(�NJ�

�(�4����(N���(O,)��!�U�)�N(��JO|��VNO,���

1: �)���J(J�l�<��̂)D�U�)�N(���JKm�{��),�3,)8��3V(O,(O,�)���J(J��!�U�)�N(��),����

�22
xyii kxy  ��

2: �)���J(J�*Ob��̂)D�U�)�N(��3,)8�JKm�{��NJ����)���J(J��!�U�)�N(��NJ�JKm��!�l,O��*Ob��̂)D�),

3V(�O,(O,���

222
xyii kxky  .. ��

�����

  انحراف معیاذخواص 

���5Z(J�U�)�N(���(O,��|��A�!��,)[�����JO|��)�,�Q���N)�n��r(OE�(��(O,�(N�O�P�\(�H�3Z����(�4���

1 :3V(O,(O,�)���J(J��!N)�n��r(OE�(�),�3,)8�JKm�{��),�)���J(J�l�<��̂)DN)�n��r(OE�(����

xyii kxy  ������������

2: )���J(J�*Ob��̂)D�N)�n��r(OE�(��3,)8�JKm�{��NJ���r(OE�(�NJ�JKm��!�w�g��NKx�*Ob��̂)D�),

3V(�O,(O,�)���J(J��!N)�n����

xyii kxky  .||. ���

  : تمرین براي حل 

13: ��m��=��{���)���J(J�U�)�N(��O�(�O,(O,��N)�!��)���J(J��18�)��!�����)�����8�)���J(J��)�4���KZ),�

���|�O,(O,��J�(N��)�N(��������)��K��|����n4�(N�K�K<��)���J(J�U����

14: ���)�O�U�)�N(��N)�!��)���J(J�)1x�2x��3x�������nx(�O,(O,16KZ),����N)�n��r(OE�(��)���J(J��

)12 1 x�12 2 x��12 3 x�������12 nx(��(NK��|��-V)E����

�����
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  ضریب ةراکندگی
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3|OZ�(M�y3|OZ�),��W�)y��NJ��O5�,�3|OZ���K�|(O0�P(�xJ�Z����*�WE�����
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  :تمرین براي حل 

15: K��|��-V)E��(N�2(O��q4�+�Ob�O�P��)���J(J��(O,����

12���15���3���6���9  

16: �2(O��q4�+�Ob�O�(�10�O,(O,��J(J�2�O,(O,�)��!�����)�����4K�N�!�3VJ��,�(N�)���J(J�U�)�N(���KZ),����
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23: P(�Ou���J��N)|�2N)���2(P)�5�(��NJ��)�[�)�P!�{����VO0�53V(�O�P�2N�̂��,��N)|�P�N����K��|����n4

3V(�O5[�,�{,��(K|���m�3xJ��|���
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  حاذك ها
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